
tuT nryTj;jpl;lk; - 2024 7 Ntyiz gpuNjr rig 

;  

 

 

 epiwNtw;wg;gl;l Ntiyj;jpl;l tpguk; - 2023 xJf;fPL 

Fwpj;njhJf;fg;gl;l khfhz mgptpUj;jp ed;nfhil 2023  

 tq;fshtb tPjp jpUj;jk; eapdhjPT 7.0 

 njUtpsf;F nfhs;tdT nra;jy; 0.5 

 ePh;j;jhq;fp jpUj;jk; nra;jy; 2.8 

gpuNjr mgptpUj;jp cjtpj;jpl;lk;  

 Kd;gs;sp fl;blk; eph;khzk; - Ntyiz tlfpof;F 15.0 

 nghJkyry$l eph;khzk; (Mz;)- Ntyiz tlf;F 2.7 

rigepjp Ntiyj;jpl;lk;  

 njUtpsf;F nfhs;tdT nra;jy; 0.9 

 mk;gytp ,e;J kahdj;jpUj;jk; 0.6 

 kz;Fk;ghd; KUf%h;j;jp Nfhtpy; tPjp jpUj;jk; 0.6 

 ntz;Gutp nrd;gpypg;]; Kd;gs;sp tPjp jpUj;jk; 0.3 

 nghJf;fpzW jpUj;jk; Ntyiz 0.3 

 kahdkz;lgk; eph;khzk;; - Gq;FLjPT 0.3 

 CujPT 1Mk; xOq;if jpUj;jk; 0.3 

 kjF mikj;jy; fe;jrhkp tPjp Gq;FLjPT 0.3 

 Ng&e;J jupg;gplk; Gduikg;G Ntyiz  tq;fshtb  0.3 

 Ng&e;J jupg;gplk; Gduikg;G Ntyiz  muhyp gpujhd tPjp 0.3 

 NgJUthdth; tPjp jpUj;jk; 0.3 

 rutiz tPud;gpl;b kahdj;jpUj;jk; 0.3 

 JiwA+h; tPjp kjF.Gduikj;jy; 0.3 

 itj;jparhiy tPjp jpUj;jk; 0.3 

 Kw;wntspr;re;ij rpw;Wz;br; rhiy jpUj;jk; 0.44 

 mYtyfj;jpw;fhd fzzp nfhs;tdT 0.66 

 jyik mYtyf kjpy; Gduikg;G 1.25 

 jyik mYtyf thapw;fjTfs; nfhs;tdT 0.54 

 eapdhjPT cg mYtyf Ehyfj;jpUj;jk; 0.96 

nkhj;jk; 36.59 



tuT nryTj;jpl;lk; - 2024 7 Ntyiz gpuNjr rig 

Ntiyj;jpl;l tpguk; - 2024 

rigepjp Ntiyj;jpl;lk; 
xJf;fPl;Lj; 
njhif 
(kpy;.) 

 Mrhup tPjp jpUj;jk;> Ntyiz 1.2 

 tPugj;jpuh; Nfhapy; tPjp jpUj;jk;> kz;iljPT 1.2 

 flw;fiu tPjp>Athdpahh; tPjp jpUj;jk;>my;iyg;gpl;b 1.2 

 Nrkf;fhiy tPjp jpUj;jk;> Gq;FLjPT 1.2 

 fy;tsT tPjp jpUj;jk;> eapdhjPT 
1.2 
 

                                     nkhj;jk; 6.0 

gpuNjr mgptpUj;jp cjtpj;jpl;lk;  

 filf;fl;blj; njhFjp eph;khzk; - rhl;b> kz;Fk;ghd; (PT3) 21.3 

 filf;fl;blj; njhFjp eph;khzk; -Ntyiz tlf;F fl;lk; I 
(PT2) 

15.9 

 filf;fl;blj; njhFjp eph;khzk; -Ntyiz tlf;F fl;lk; II 
(BT2) 

13.4 

 Kd;gs;spf;fl;blj;jpw;fhd Nkyjpf Ntiyfs; 2.3 

                                     nkhj;jk; 52.9 

 

 

 


